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jo” xf (sin x)dx = njoz £(sin x)dx
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fidt: a) 2 x=r-t, M dx= - dt, sinx=sint,
j” xf (sin x)dx = — jO(n —1)f(sint)dt = j “(m—1)f(sint)dx = jo” 7f (sin x)dx — jo” f (sin t)dx
j xf (sin x)dx %% [F T j xf (sinx)dx, .2 jo” xf (sin x)dx = jo” 7f (sin x)dx

4> x=m-t, NI dx= - dt, sinx=sint, j F(sinx)dx =— j F(sint)dt = j : f(sint)drx
FTLA [ xf (sin x)dx = % [ fsinx)dx =% jf £(sin x)dx +%j2 £(sin x)dx =% joz £(sin x)dx

+%J.05f(sinx) = ﬂJ.OEf(sinx), EEE
b) 4 u=cosx, du=-sinxdx, x=m/2, u=0,x=0,u=1
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7 xsinx ~ sinx o -1 o T
I IOZ dx=r| ——du= [ zarctanu] = e
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